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SECTION A (8 points)

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs
Srom the other three in pronunciation in each of tie foilowing questions.

Question 1: A. followed B. exploited C. packaged D. reserved
Question 2: A. literature B. important C. available D. conservation
Question 3: A. scary B. back C. alpebra D. national

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three
in the position of the primary stress in cach of the following questions.

Question 4: A. methodical B. academic C. compulsory D. commercially
Question 5: A. unfortunately B. agricultural C. university D. representative

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
Sollowing questions.

Question 6: It's amazing how Jenny acts as though she and Darren serious problems at the
moment.

A. aren’t having B. weren’t having (. hadn’t had D. hadn’t been having
Question 7: Jane only makes cakes with the _ butter.

A. best unsalted Danish B. unsalted best Danish

C. Danish best unsalted D. best Danish unsalted
Question 8: Drying flowers is the best way ~ them.

A. preserved B. by preserving C. preserve D. to preserve

Question 9: Garderners transplant bushes and flowers by moving them from one place to
A. other B. others C. another D. each other
Question 10: Hair fingernails, and tocnails __trom the skin.

A. forming ~ B.forms . formed D. are formed

Question 11: Juries determine facts from what is said and from the manner :

A. in which it is said  B. which said it in C. which 1s said in D. which said it

Question 12: Dolphins and whales are mammals that _lives in water.

A. spend their entire B. their entire

C. spend there entirely D. spending their entire
Question 13: Professional gardeners appreciate flowers for their . gorgeous colors, and
pleasant fragrance. ‘

A. attractively shaped  B. shape and attract C. shaped attractively  D. attractive shapes
Question 14: To bake fish, ~butter and place it in a generously greased rectangular pan.

A. it brushes with B. with its brushes C. brushing it with D. brush it with
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Question 15: Spain has little good farmland and lacks many raw materials.

A. important industry B. industrious and imiportant
C. important industrial : D. important industries
Question 16: Paul Samuelson was the first American to win the Nobel Prize in
A. economy B. economic C. economical D. economics
Question 17: wartare duties primarily to males’” was imperative when combat was hand-to-
hand.
A. Assigning B. Assigned
C. They who assigned - D. That they were assigning
Question 18: The risks of developing cancer can ____ by not smoking and by drinking in
moderation.
A. be significantly reduced B. to be signiticantly reduced
C. signiticantly reduce D. to reduce significantly
Question 19: The mass of the sun is about 750 times _that of all the planets combined.
A. the greatest B. as great as C. greatly D. greater
Question 20: The sense of touch is essential in locating external objects if close to our bodies.
A. their are B. they are C. thetr D. they
Question 21: [ thought, . that the recession would soon be over.
A. as did my colleagues think B. as my colleagues thinks
C. as does my colleagues D. as did my colleagues
Question 22: _ charge for excess luggage is £10 kilo.
A.The;an;a | B. The; 0; a C.0:0;a D. O; an; the
Question 23: A: [ don’t like meat.
B:
A.Norldo B. I don’t too. C. Neither don’t I. D. Neither do 1.
Question 24: , let me know.
A. Do you hear anything B. Hear anything
C. Should you hear anything D. Hearing anything

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the
underlined word(s) in each of the following questions.

Question 25: Designers could move away from conservative styles and promote the swimsuits that
revealed a body’s physical attributes.

A. hid B. distorted C. blocked D. disrupted
Question 26: Lunar years were inconvenicnt for agricultural purposes.
A. useful B. ideal C. proper D. practical

Mark the letter A, B, C, or D to indicate the word(s) SIMILAR in meaning to the underlined word(s) in
each of the following questions.

Question 27: Sometimes, advertisers impact society by the use of advocacy ads, whose purpose is not to
persuade the public to buy a product, but to change the public’s view about a spectlic 1ssue.

A. convince B. dissuade C. solicit D. encourage
Question 28: Aside from simply being annoving, the most measurable physical effect of noise poltution is
damage to hearing.

A. difficult B. ongoing C. bothersome D. relined
Question 29: Many communities now disapprove of these phones so much that they have forbidden
anyone of any age to use them while driving.

A. tully endorse their popularity B. condemn or oppose their use

C. tavor their use only by adults D. agree to their unrestricted use
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Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction
in each cf the following questions.
Question 30: Electric wires carry current for lighting and outlets designing for household appliances.

A. Electric B. carry current C. lighting D. designing

Question 31: Technology is define as the tools. skills. and methods that are necessary to produce goods.
A. is define B. the tools C. that are D. to produce

Question 32: The planet Mercury rotates slow than any other planet except Venus.
A. rotates B. slow C. other planet D. except

Question 33: Van Cliburn he studied piano from 1951 to 1954 and won multiple awards between 1958
and 1960.
A. he studied B. ptano from C. won D. awards between

Question 34: To raise livestock successfully, farmers must selecting cattle for breeding and apply a dietary
regimen. _
A. successtully B. selecting C. breeding D. apply

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks from 35 to 44.

Royal Residences

Buckingham Palace. Windsor Castle and the Palace of Holyroodhouse are the official 35)  of
the Sovereign and. as such, serve as both home and office for the Queen, whose personal flag flies
(36)  her Majesty is in residence.

These buildings are used extensively for State ceremonies and official entertaining and are opened to
the (37)  as much as these commitments allow. They are furnished with fine pictures and
(38)_ ot art from the Royal Collection, assembled over four centuries by successive sovereigns.
Many of the State Apartments and rooms at the official residences have been in continuous use since their
conception and many of the paintings are (39) in the rooms for which they were originally
40

The official residences are in (41)  use and the style and manner in which they are
(42) _ to visitors reflects their working status. Rooms are kept as close to their normal
(43) _as possible. Inevitably, opening times are subject to change at short notice depending on
circumstances. :

The Royal Collection, which is owned by the Queen as Sovereign in trust for her successors and the
Nation, is administered by the Royal Collection Trust to which a proportion of admission fee and other
income from visitors is directed.

The remainder of this money funds the majority of the cost of restoring Windsor Castle which was
badly (44) by fire in November 1992.

Question 35: A. venues B. resrdences C. situations D. occupation
Question 36: A. whatever B. however C. whoever D. whenever
Question 37: A. humans B. public C. peoples D. strangers
Question 38: A. paintings B. statues C. works D. jobs
Question 39: A. created B. explored C. produced D. displayed
Question 40: A. instructed B. intended C. performed D. guarded
Question 41: A. local B. national C. regular D. minor
Question 42: A. designed B. shown C. gi\kn D. taken
Question 43: A, feature B. location C. destination D. appcarance
Question 44: A. destroyed B. ruined C. damaged D. collapsed

~ i

Trane 3/6 — Mda dé thi: 32



r+
W

Zid i

6. Truong THPT Clunéin Dai hoe Sir pivain

Read the following passage and mark the letter A, B, C,orDo
correct answer to each of the questions from 45 to 54.

U.N. Abandons Treaty to Ban Cloning

U.N. diplomats abandoned efforts to draft a treaty that would outlaw human cloning. They will likely
settle for a weaker statement, and won’t seek a widespread ban, officials said. The debate began when [taly
introduced a document into the U.N. to stop any attempt at cloning human life. The Belgians objected to
the use of the term “human life” in the document, because they feared it would put a stop to all forms of
human cloning.

[1] There is near universal support among the United Nations’ 191 members for a ban on reproductive
cloning-creating cloned babies. [2] Many countries have wrestled over whether to allow cloning for stem
cell and other types of research. [3] Indeed, many researchers believe that stem cells could be used to
repair nerve tissue or cure diseases, including Alzheimer’s. [4] Stem cells are taken from embryos and
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cloned, but extracting these cells kills the embryo. Opponents say that this is equal to murder.

i your answer sheet to indicate the

Question 45: What is the main topic of this passage?

A. a disagreement on cloning B. the definition of “life”
C. reasons why cloning should be banned D. the arguments against cloning babies

Question 46: Which of the following best describes the organization of this passage?
A. a chronological listing of steps used in cloning
B. a discussion of ways to use cloning for better health
C. a description of nations’ opinions about cloning and reasons for those opinions
D. none of the answers

Question 47: The word “it " inthe text refers to o

A.aban B. an attempt at cloning human life
C. use of the phrase “human life” D. research

Question 48: Which of the following can be inferred from this passage?
A. The production of cloned babies will probably be banned.
B. No one knows what life is or when life begins.
C. Cloning for medical research will probably be banned.
D. Most diseases will be cured through cloning.
Question 49: Why are some countries “wrestling” over whether (o ban cloning or not?
A. Because it is a very harmful process.
B. Because they don’t want to upset the U.N,
C. Because the issue is morally and legally difficult.
D. Because they want to fight with other countries over cloning.

Question 50: The phrase “universal support” means -
A. every country is against the issue
B. every country is for the issue
C. there are equal numbers for and against the issue
D. none of the answers
Question 51: What can be inferred about the Belgians?
A. They support some forms of human cloning.
B. They believe that cloning for research is unacceptable.
C. They agree with the ltalians’ position.
D. They had strongly supported the abandoned treaty.
Question 52: Which of the following can be inferred about the ltalian proposal?
A. lt was an attempt to reach a compromise.
B. [t would allow cloning for the treatment ol Alzheimer's.




C. It was approved of by people who strongly oppose cloning.
D. none of the answers

Question 53: The word “extracting” in the passage is closest in meaning io

A. growing B. removing C. curing D. killing
Question S4: Which is the best place for the following scatence?

“Another type of cloning is the cause ot the controversy.”
A.[1] B. [2] C. [3] D. [4]

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions from 55 to 64.

The Battle of Gettysburg

One of the most important battles of the American Civil War occurred around the smail town of
Gettysburg, Pennsylvania, from July 1 to July 3, 1863. What began as a search for shoes by the
Confederate Army quickly escalated into a major battle. As the Confederate soldiers sought new shoes,
they unexpectedly encountered Union cavalry stationed west of the town at Willoughby Run, and the
battle began. After much fighting and heavy casualties on both sides, the Confederates pushed the Union
forces back through the town of Gettysburg, where they regrouped south of the town along the high ground
near a cemetery.

Confederate General Robert E. Lee ordered General R.S. Ewell to seize the high ground from the battle-
weary Union soldiers “if practical.” Ewell hesitated in the attack, giving the Union troops a chance to
establish a stronghold along Cemetery Ridge and then bring in reinforcements with artillery. By the time
Lee realized Ewell had not attacked, the opportunity had vanished. Other failures by the Confederates
included the generals® opposition to the attack plans and a lack of information about Union defense. This
combination of errors allowed the Union forces to win a critical victory in the Civil War. By the end, a
total of 160.000 men were involved in this fierce and bloody battle.

Question 55: What is the main idea of the passage?
A. Shoes were an important factor in the Battle of Gettysburg.
B. Mistakes by Confederate torces led to a critical victory for the Union at Gettysburg.
C. The Battle of Gettysburg began accidentally and involved heavy casualties on both sides.
D. Gencral Ewell hesitated in the attack on the high ground.

Question 56: Why does the author mention that ' Ewell hesitated to attack”?
A. to explain an important mistake by the Confederates
B. to show that the Confederates were afraid
C. to show that Ewell was against the war
D. none of the answers

Question 57: Which of the following best describes how the Battle of Gettyshurg began?

A. an accidental meeting B. an expected fight
C. a carefully planned surprise attack D. a misunderstanding

Question 58: /i can be inferred from the passage that one reason for the Union victory was
A. the Confederate soldiers’ lack of experience
B. General Ewell’s hesitation to attack
C. mistakes by General Lec
D. the larger number of Union soldiers
Question 59: According to the passage, which of the following is assumed in the Batile of Gettysburg?
- AL 160,000 men were killed.
B. It was a major victory for General Lee.
C. The Union soldiers were led by General Ewell.
D. Both sides had many casualties.
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Questlon 60 The wor d escalated in paragr aph ] COll/d besr b{, iep/uced b1 :
A. failed B. ended C. grew D. continued
Question 61: Which of the following happened last?
A. Union reinforcements arrived.
B. Union soldiers went to Willoughby Run.
C. The Union soldiers arrived at Cemetery Ridge.
D. General Lee ordered an attack.

Question 62: The word “they” in paragraph I refers to

-A. soldiers B. shoes C. battles D. Army
Question 63: The word “vanished’ in paragraph 2 is closest in meaning to .
A. succeeded B. disappeared C. decreased D. remained

Question 64: Complete the summary by choosing one sentence (A, B, C, or D) that is among the most
important information to fill in the blank.

SUMMARY: This passage discusses the Baltle of Gettysburg. The battle began when Confederate and
Federal soldiers met by accident near Gettysburg. . Failures by the Confederate
Jorces in planning and intelligence allowed the Union army to win the battle.
A. When Lee realized that Ewell had not attacked, the opportunity was gone.
B. Confederate General Ewell hesitated to attack, which allowed the Union forces time to prepare.
C. The Confederate soldiers regrouped south of Gettysburg on high ground.
D. A total 0of 160,000 men were involved in the battle.

SECTION B (2 points)

L. Finish each of the following sentences in such a way that it means the same as the sentence printed
before it. Write your answers on your answer sheet.
Question 65: Don’t invent excuses in order not to do them.
> Don’t make
Question 66: Someone almost certainly broke the window on purpose.
=>» The window must
Question 67: You caused the accident because you were driving too fast.
> Had you
Question 68: Although he was ill, he visited other ruins.
> Inspite
Question 69: “If you cause problem, ['ll arrest you,” the policeman told me.
> The policeman warned

I1. Inn about 140 words, write a paragrah about the benefits of doing voluntary work. erte your
paragraph on your answer sheet.

The following prompts might be helptul to you.
- Contributing part of your time and energy to the society
- Developing important social skills

- Creating connections with people

---THE END---
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1 B A D D 33 A D C A
2 D A C D 34 B B A D
3 A B B A 35 B C B D
4 B A A D 36 D B A A
5 A C B C 37 B D D D
6 B C D D 38 C C C B
7 A A A B 39 D B A C
8 D B A A 40 B C B B
9 C D D A 41 C C A C
10 D A C D 42 B C D B
11 A A B C 43 D D B C
12 A D C D 44 C A D A
13 D B A D 45 A C D A
14 D A C A 46 C D D C
15 C B C C 47 C C C D
16 D C C D 48 A C A C
17 A B B B 49 C A B A
18 A D D D 50 B D D C
19 B B C C 51 A D B B
20 B B C D 52 C C D B
21 D D D B 53 B C C C
22 B D A A 54 B C C B
23 D A C A 55 B B A D
24 C C B C 56 A D B A
25 A A C D 57 A C B A
26 D B A B 58 B A D B
27 A A A B 59 D C B C
28 C B D C 60 C B B A
29 B A B A 61 A D B B
30 D A D C 62 A D A D
31 A B A B 63 B A A A
32 B B B C 64 B D D B

65. Don’t make up excuses in order not to do them.

66. The window must have been broken on purpose.

67. Had you not been driving so/too fast, the accident would not have happened.
68. In spite of his illness, he visited other ruins.

69 The policeman warned me not to cause problem/trouble.



